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9509 EvEEREE R = 196. 000000000000mm
BE7—LEBHFER2 = 380. 000000000000mm
B8~ 5 @mOER (1) = 600. 000000000000mm
1= B ih ~ h LEh o FEEE (L2) = 1080. 000000000000mm
Hh L ~EHER /L T OEEE (L3) = 860.000000000000mm
EBE#M~EX FESIBE TOER(L4)= 500.000000000000mm
EX Lo EEHOR S (LD = 130.000000000000mm
EX boEimEiE TDEE (A1) = 4.000000000000
EX FUEBAE A2) = 62.100478233572[F
I|&E /3L T E 22 (R3) = 72.000000000000mm
BESR/NILTEEZE(RY) = 65.000000000000mm
HhiER
V9 voEEAE  WR/ANVTER e 3 WAV w5} 3
0 22. 92205043969 7mm 25.189704386578mm
1 23. 01467938744 1mm 25. 283314369287mm
2 23.291027492270mm 25.562589388310mm
3E 23.748763145085mm 26. 025173453569mm
ARE 24. 385529378492mm 26. 668685146078mm
5 25.198951244678mm 217.490725064706mm
6 26. 186643054285mm 28. 488883132398mm
1 27.346215448096mm 29. 660745733465mm
8 28. 67528227689 1mm 31.003902657074mm
9 30. 171467268442mm 32.515953825762mm
10 31.832410464006mm 34.194515791185mm
ME 33.655774410046mm 36. 0372279827 15mm
12/ 35. 639250094002mm 38.041758697660mm
13%E 37. 780562615993mm 40. 20581082489 1mm
14 40.077476591057mm 42.527127296504mm
15 42.527801279158mm 45.003496264693mm
16 & 45.129395442539mm 47.632756003476mm
17%E 47.880171932194mm 50. 412799537039mm
18/ 50. 77810200714 1mm 53. 341578998462mm
198 53.821219391944mm 56.417109724330mm
20/E 57.007624079444mm 59. 637474092265mm
181 22. 962808850750mm 25. 230894468546mm
182/ 23. 084426902099mm 25. 353800592998mm
183 23. 285937330942mm 25. 557445313594mm
184 23. 56639877838 7mm 25. 840877400816mm
185 23. 92489724393 1mm 26.203173310323mm
186 24. 36054745064 0mm 26. 643438561146mm
187 24. 87249412320 7mm 27. 16080902591 1mm
188 25.459913181649mm 27.754452135903mm
189 26.122012853907mm 28. 423568004252mm
190 26. 858034711059mm 29.167390471003mm
191 27.667254629190mm 29.985188074165mm
192 28.548983682304mm 30. 876264951149mm
193 29. 502568970853mm 31.839961675238mm
1947 30. 527394390672mm 32. 875656031924mm
195 31.622881347210mm 33. 98276374005 1mm
196 & 32.788489420084mm 35.160739122843mm
197 34.023716982951mm 36. 409075733872mm
198 35. 328101783806mm 37.727306943114mm
199 36. 70122149070 7mm 39.115006488163mm
200% 38.142694207949mm 40.571788995664mm
201 & 39. 65217896764 1mm 42.097310477977mm
2027 41.229376201532mm 43. 691268809964mm
203 42.874028197899mm 45. 353404190773mm
2047 44, 585919548159mm 47.083499595315mm
205 46. 364877587826mm 48.881381220109mm
206 & 48. 21077283626 3mm 50. 746918928007mm
207 50. 12351943964 0mm 52. 68002669622 2mm
2087 52.103075621360mm 54. 680663072010mm
209 54.149444144143mm 56. 748831640189mm
210 56. 262672787843mm 58. 884581506676mm
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927 BEEEE = 196.000000000000mm
BE7—LEBEE = 380.000000000000mm
BB~ SV 78BOERE = 600.000000000000mm
PYLERT = 320.000000000000mm
O—4& —dihd%E = 740.000000000000mm
EXbrY-O—4—EEEIE= 113.585250000000kg
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+++ttttttrtt++ ERX RV ICER T A H L WA+
THREMED OB = 2.000000000000Mpa
t:X FYRILOERERE = 0.779347603248m
EX VR = 16.000000000000cm
EXFURBEBAE = 62.100478233572 B
t:X FUICIERT B = 16.396487651763tf
EX FUB{EREE = 0.844701988230m
EXMVICERT 4% = 13.850145719428tfm
+++tttttt B B T — LICER T 5 1 & L B+++++++++++
BE7—LER = 0.380000000000m
B 7—LICERT SH = 16.813899148792tf
BB 7 — LB = 0.823731937302m
BE7—LIC/EAT HHE = 13.850145719428tfm
+++ttttttttt++ ) S O ITER T A B L WA+
92 HEEYER = 0.196000000000m
92 VO®MICERTEA = 11.246526294847tf
5V e EERE = 1.231504320207m
92V BMICHERT HEE = 13.850145719428tfm
250780 FILY (1888 = 2.204319153790tf-m
IVPY ML (8FKBE) = 17.634553230320tf m
+tttttt+t+ R AT OO U A E B (1050rpm) +++++++++++
IVPUHA(RER) = 2758538 51 ( 159015KW)
TP UHA(2:E) = 571707K 5 ( 3758031KW)
TP UHA(4E) = 10753414K 5 ( 7756062KW)
TP UM A(6:E) = 157551218 5 (11 54093KW)
TP UM A (8H) = 20756828 K 1 (15752124KW)
TP UM A(10:E) = 25758536 8 5 (19 50155KW)
IV UM A(12:E) = 317502435 5 (22 58187KW)
TP UHA(4E) = 36731950 K 1 (26 556218KW)
IVP UM A(163E) = 41753657 8 5 (30 54249KW)
IYP UM A(18:F) = 4655364 5 7 (34 52280KW)
T2 UHA(205F) = 51757072 5 (38 50311KW)
Pyl Ah(22:F) = b6 58779/ H (41 58343KW)
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TP vEEY =200rpm ISR | Ty - =1020rpm IoPvEEH =1080rpm I Ui =1140rpm
EX b ESEE = 5.347031873712m/s EX b EE)REE = 27.269862555931m/s EX b EEEREE = 28.873972118044m/s EX b EHEE = 30.478081680158m/s
AR KIEE A (hEEs) = 3. 180094699084t BRI RIEYE D (nsERy) = 82 714263123187tf BRI RIEME D (hnEeF) = 92. 731561425303t B KIEME S (0EE) = 103.321276773254tf
TEIS/MEY S (BiER) = -3.414640182798tf BTEIR/MEYE S (BiERE) = -88.814791154567tf BTEIS/MEY S (BiER) = -99.570907730379tf ATEIR/IMEE S (EER) = -110. 941659539095t F
Rl K& 0 (EEEEAM)= 115. 797557586424t f Al K& A (EEEEAF)=  87.026288936081tf AR XRE 7 (EEEEAF)=  90.070379476365tF Al K& A (EEEEAM)= 101. 296158495714t
AIEIR/INSH EEEEAR)= -39. 263464358405t BRSNS H (HEEAR)= -23. 276995385545t AIEIR/NSH EEEEAR)= -33. 294293687661tf AEIR/INE S EEEEA M) = -43. 884009035613t F
R KO0y FHEE = 112. 750253439412t RIAIERKa Oy FHE = 84.736123437763tf RIAIE Ko 0y F&EE = 87.700106332250tF RIAIERKa 0y FEE = 98.630470114248tf
BlERKY S VIO RE = 110. 990565422224t f AR KY 5 VO RE = 83. 413650658430t f AEIRKY2 5 VO RE = 81.522717256704tf AR KY 5 VI RE = 01.765641818609tf
RIEREE S (NER) = 3. 414640182798t f HAIBKENE S (hN=ER) = 88.814791154567tfF HABRKEE S (NER) =  99.570907730379tF #AIRKIEMS S (hNER) = 110.941659539095tF
H#AIS/MEE S GBER) = -3.103129470308tf H#AIB/MEYE S (BiER) = -80.712397522714tf H#AIS/MEYE S (BER) = -90. 487255354185t ®AIBR/MES S (ER) = -100. 820676490311t F
ZRAZAESH (EREEAR)= 115.307007411219tf ZRERAES N (EREEAR)= 74. 267078878998t f BEZAEH (EEREEAR)= 69.098115469303tf #AFRKE N (EREEAR)= 70. 228919795933t
#AR/NSH FEEAR)= -39. 297349126814t #AR/NSH HEEAR)= -21.275129785072tf #AR/NSH FEEAR)= -31.049987616543tfF ®AB/NEH FEEEEAF)= -41. 383408752669t T
#wAFEKa> Oy FHRIE = 112. 272612479344t f #AFZKa>OY FHE = 72 312682066393tf #wAFZEKa>Oy FHRIE =  67. 279744009584t f #AFEKRKa Oy FAE = 68.380790327619tf
BEARKISVIOHE = 110. 264072544937t f BEIRKY S VYRE = 71.019019199849tf BERKI S VI RE = 66.076119638192tf BARKI S VY RE =  66.819123254740tf
I o UEERR =400rpm I UEERR =1030rpm I o UEERR =1090rpm n RVRII] =1150rpm
EX bk EESEE = 10.694063747424m/s EX b EEEE = 27.537214149616m/s EX bk EESEE = 29.141323711730m/s EX b YESEE = 30.745433273843m/s
AT RIEE h (hNERF) =  12. 720378796338t AT RIEE S (h0ERy) =  84. 344061656468t AR RIEE h (hNERF) =  94. 456762799556t AT KIS 5 (hnEERF) = 105. 141880988480t
BifllE/METE D (BiERF) = -13.658560731191tf i/ MEYE S GBiERE) = -90. 564794248250t f BifRlE/METE D (GBiERF) = -101. 423350029547t BIAIER/MEME S GBER) = —112. 896541043747t
AR RS 1 (EEEEAR)= 112. 346385817090t AR ARE S (EEEEAF)= 86. 436713758819t AR RS (EEEEAR)= 91. 899203836124t AR RS S (EREEAM)= 103. 226115999792t F
B/ E ) (HiEEs A R)= -35.063989304503tf BIflR/NE S (HiEEsA M) = -24. 906793918826tf B/ E ) (HiElEs A R)= -35.019495061915tf ifllx/ME A (HEEEA )= -45. 704613250839t F
Rl Ka>0y FHRE = 109.389901979798tf Rl KO >0y FHE = 84.162063396745tf Rl Ka>0y FHRE = 89.480803735173tf Bl Ko 8y FRE = 100.509639262955tf
AR K S VO HE = 107. 682658813212t f AR K SV HE = 82.848549946057tf AR K S VI HE = 83.189030614873tf IR KY SV HE = 93.548009712466tf
HREIRAIEE S (0ER) =  13.658560731191tfF HBEIRAKIENE S (R = 90. 564794248250t F HEIRAIEE S (0 = 101. 423350029547t #AFRIEMEH (ke = 112. 896541043747t
H AR/ MEE S GBER) = -12.412517881232tF #AlR/MEYE S (BER) = -82.302751376247tfF # AR/ MEE S (BER) = -92. 170703091827t #AR/IMEYE S GRikrF) = -102. 597218112062t
#ABRAEH (EEEEAR)= 110. 384185116270t f #ABKEH (EEEEAR)= 713. 426096736945t #ABRAEH (EEEEAR)= 68. 207905104299t #ABRASH (EREEAM)= 71.768836308952tF
#ER/DE N FEEEEAR)= -35. 199528378138t #ER/DEH FEEEEAR)= -22. 865483638605t #ER/DE N FEEEEAR)= -32. 733435354185t #AlR/NE 1 (FEEAR)= -43. 159950374420t
#AIBKa Oy FHEE = 107.479338139526tf #AIEKa Oy FHE = 71.493831033341tf #AB KOOy FHAE = 66.412960233134tf #AFE KK Oy FEE = 69.880182721875tf
BABRKISVIHE = 105. 556549152883t f BABKYISVIHNE = 70.214817287040tf BABRKISVIHE =  65. 224842491463t f ®BRABRKISVIHE = 68.284272819683tf
IO vEEY =600rpm ISR | Ty - =1040rpm IoPvEEH =1100rpm I vEEE =1160rpm
EX b ESEE = 16.041095621136m/s ERX b EE)HREE = 27.804565743302m/s EX b VEEEREE = 29.408675305415m/s EX b EHEE = 31.012784867529m/s
BRI KIEME D (hERF) =  28. 620852291760t f BRI RIEYE D (nEeF) =  85.989760663244tf BRI KIEME D (INEeF) = 96. 197864647305t BIAIRKIEME S (INEE) = 106. 978385677202t
ATEIER/IMEY H (BER) = -30. 731761645179t TR /MEYE S (BiER) = -92. 331870542848tf ATEIS/ME S (BiER) = -103. 292865529629t ATEIR/IMEE S (FER) = -114. 868495749313t
AR XRE 7 (EEEEAF)= 106. 594432868201t Al K& A (EEEEAF)=  85. 841386628609t A& (EEEEAF)=  93. 744883719936t Al K& A (EEEEAF)= 105. 172929027922t f
AR/ SH EEEEAR)= -28. 064864214666t AR/ S A (HEEEAF)= -26.552492925602tf AR/ SH G EEEAR)= -36. 760596909663t AEIR/INE S EEEEA M) = -47. 541117939560t F
RIAIE KO >0y F&EE = 103.789316213775tf RIAIERKa >0y FHE = 83.582402769962tf RIAIE Ko 0y FEE = 91.277913095727tf RIAIERKa Oy FEE = 102.405220369293tf
BIRIRKO S VO RE = 102. 169481131526t f AR KY 5 VO RE = 82.277936056003tf AEIRKY2 5 VO RE = 84.870701699844tf AR KY S VI RE = 05.345944138147tf
FIRAREE S (NERF) =  30.731761645179tf HABKEME S (NER) =  92. 331870542848t H#ABRXKEE S (NER) = 103. 292865529629t AR KBS (hNER) = 114.868495749313tfF
HAR/IMEYE S (BER) = -27.928165232773tf H#AIB/MEYE S (BiER) = -83.908620877131tf H#AIS/MEE S (BER) = -93.869666476820tf ®RAIR/MES S GlER) = -104. 389275381165t
BREZAEH (EREEAR)= 102. 179481291356t f ZERAES N (EREEAR)= 72.576909891066tf ZREZAEH (EREEAR)= 67.309490035471tf HAFRKE N (EREEAR)= 73. 322201874487t
#AR/NSH FEEAR)= -28. 369827130343tf #AR/NSH HEEAR)= -24. 471353139490t #AR/NSH FEEAR)= -34. 432398739179t ®AB/NEH FEEEEAF)= -44. 952007643523t F
#AFZEKa> Oy FHRIE = 99.490547573162tf #AFZEKa>Oy FHE = 70.666991209722tf #wAFZEKa> Oy FHAIE = 65.538187666117tf #AFEKRKa Oy FRE = 71.392670246211tf
BEARKISVIOHE = 97.710676832794tf BEIRKY S VYRE = 69.402769501910tf BERKI S VI RE = 64.365719472413tf BARKI S VY RE = 69. 762218450696t
I o UEERR =800rpm I UEERR =1050rpm I o yEER =1110rpm n RVRII] =1170rpm
EX bk EESEE = 21.388127494848m/s EX b EEEE = 28.071917336987m/s EX bk EESEE = 29.676026899101m/s EX b YEGEE = 31.280136461215m/s
AT RIEE S (hNERs) =  50.881515185352tf AT RIEE S (hNERy) =  87.651360143516tf AR RIEE h (hNERF) =  97. 954866968549t AT KIETE S (hnEERF) = 108.830790839418t T
BIRIR/MEME S GEEEF) = -54. 634242924762t il MEYE S GBiERE) = -94. 116020038360tf BifllE/METE D (GBiERF) = -105. 179454230624t Bl E/MEME S GBiER) = —116. 857523655792t
AR RS (EEEEAR)=  98. 541698739756t BB ARE A (EEEEAF)=  85. 240307545450t F AR RS (EEEEAR)=  95. 607419127801t AR RS S (EREEAM)= 107. 136597580106t F
AIEIR/NSH GEEEEAR)= -18. 266089088895t AIEIR/INSH (HEEEAF)= -28. 214092405874t AIEIR/NSH ¥ EEE A )= -38. 517599230908t f ATEIR/INE S FEEEEA M) = -49. 393523101777t F
Bl KO0y FRE = 95.948496141342tf Rl Ko >0y FHRE = 82.997141557412tf Rl Ka>0y FHRE = 93.091434413911tf Bl Ko 8y FRE = 104.317213433261tf
AR K2 S VI HE = 94, 451032377166tf AR KY SV HE = 81.701808988267tf AR K S VI HE = 86.567730511620tf IR KY S VI HE = 97.159445095653tf
I KIEME D (hnsERs) =  54. 634242924762t HBEIRAKIENE S (h0ER) =  94. 116020038360t F HBEIRAIEE S (0ER) = 105. 179454230624t F #AFKIEM ) (ke = 116. 857523655792t
% AR/ MEE S (BER) = -49. 650071524930t % ElR/MEYE S (BiER) = -85.530006025367tF H AR/ MEE S (BER) = -95. 584145509166t #AR/IMEYE S GRixkrF) = -106. 196848297619t
#ABRKEH (EEEEAR)= 90. 692895936476t #ABKEH (EEEEAR)= 71.719518341363tf #ABRAEH (EEEEAF)= 66.402870262818tf #ABRASH (EREEAM)= 74. 889016492537t F
#ER/DE N FEEEEAR)= -18. 808245383432t #ER/DEH HEEEEAFR)= -26.092738287726tF #EIR/DE N FEEEEHR)= -36. 146877771524tF #AlR/NE 1 (FEEEHF)= -46. 759580559978t
#AB Ko Oy FHAE = 88.306240780253tf #AIBEKa Oy FHE = 69.832162595537tf #AB KOOy FHAE = 64.655426308534tf #AFEKRKa Oy FEE = 72.918252900629tf
BABRKISVIOHE = 86. 726455584668t f BABRKYISVIHE = 68.582875844461tf BABRKISVIOHE = 63.498750581043tf ®BRABRKISVIHE = 71.252960147778tf
TP vEEY =1000rpm ISR | Ty - =1060rpm IoPvEEH =1120rpm I Ui =1180rpm
EX b ESEE = 26.735159368559m/s EX b EE)HREE = 28.339268930673m/s EX b EEEREE = 29.943378492787m/s EX b EHEE = 31.547488054900m/s
BRI KIEME D (hnEeF) = 79.502367477112tf BRI KIEYE D (nEey) =  89. 328860097283tf BRI KIENE D (hNERF) = 99. 727769763289t f BIAIRRIEME S (I0EE) = 110.699096475130tf
BTEIS/ME™ S (BiER) = -85.366004569941tF BTEIR/MEYE S (BiERE) = -95.917242734786tf BTEIS/ME™ S (BiER) = -107. 083116132634t f ATEIR/IMEE S (FER) = -118. 863624763186t
ﬂﬁ“ﬁ S (EEEAR)= 88.188183431756tf Al K& A (EEEEAF)=  86. 472565042798t AR XRE D (EEEEAF)=  97. 486810059719t Al KE A (EEREEAM)= 109. 117121656343t f
BIIR/DNE N FEREAR)= -20. 065099739470t f AR/ E N (HiEEEA M) = -29. 891592359641tf A&/ E ) (HElEsAR) = -40. 290502025647 tf A/ A (HEEAF) = -51. 261828737489t
RIBIE KO0y F&E = 85.867441762499tf RIAIERKa Oy FHE = 84.196971225882tf RIAIE KO0y FHAE = 94.921367689726tf RIAIERKa Oy FEE = 106. 245618454860t
BIRIRKO S VO RE = 84.527312550131tf AR KY 5 VO RE = 81.120168742849tf AEIRKY2 5 VO RE = 88.280117050198tf AR KY S VI RE = 08.988512584982tf
RIRAEE S (=) =  85. 366004569941t HRABKEE D (NER) =  95.917242734786tF H#ABRKEE S (NER) = 107.083116132534tF AR KBS (hNER) = 118.863624763186tF
AR /ME% S (BiER) = -77.578236757703tf #AIS/MEYE S (BiER) = -87. 166906820955t H#AIS/MES S (BiER) = -97. 314140188862t ®AIR/MEHS S GlER) = -108.019936861426tF
BEZAEH (EREEAR)= 75.924429051631tf HERAESH (EEREEAR)= 70. 853922087834t f BEZAEH (EREEAR)= 67. 189433927440t f #ARAKE N (EREEAR)= 76. 469280163103t
#AR/NSH FEEAR)= -18. 140969020061t #AB/NSH HEEAR)= -27. 729639083313t #AR/NSH FEEEAR)= -37.876872451221tf #®AB/NEH FEEEEAF)= -48. 582669123784t
#wASEKa>Oy FHRIE =  73.926417760799tf #AFZEKa> Oy FHE = 68.989345190786tf #wAFZEKa Oy FHRIE =  65.421290929350tf #AFEKRKa Oy FRaE = 74.456930685127tf
BEARKISVIOHE = 72.603885408507tf BEIRKY S VYRE = 67. 755136314692t f BERKI S VI RE = 63.927212323061tf BARKI S VY RE = 72.756497910930tf
I o yEER =1010rpm I UEERR =1070rpm I o yEER =1130rpm n RVRII] =1190rpm
EX bk EESEE = 27.002510962245m/s EX b EEEE = 28.606620524359m/s EX bk EESEE = 30.210730086472m/s EX b YEGEE = 31.814839648586m/s
AR RIEE H (hNERs) =  81. 100365063402t AT RIENE D (=) =  91. 022260524545t F AR RIEE H (hNERF) = 101. 516573031524t AT KIS D (hnERE) = 112. 583302584338t
BIRIR/MEME ) (EEEF) = -87.081861261797tf i/ MEYE S (GBiERF) = -97. 735538632125tf BifllE/METE S (GBiERF) = -109. 003851235358t f Bl E/IMEME S GBiEER) = —120. 886799071494t
AR RS (EEEEAR)= 87.610112160393tf BB ARE A (EEEEAF)=  88. 258410640659t AR RS (EEEEAR)=  99. 383056515690t AR RS A (EREEAM)= 111. 114501256632t F
AIEIR/INSH HEEEEAR)= -21. 663097325760t AR/ S A (HEEEA W)= -31.584992786903tf AR/ SH HEEEEAR)= -42. 079305293882t ATEIR/INE S FEEEEA M) = -53. 146034846696t T
Bl Ra>0y FRE = 85.304582893014tf Rl Ka>0y FHE =  85.935820886957tf Rl Ko >0y FHRE = 96.767712923172tf Bl Ko 8y FRE = 108.190435434089tf
AR KO S V) HE = 83.973238193121tf AR KY S VO HME = 80.533015319749tf AR KO S V) HE = 90.007861315580tf IR KY S VI HE = 100. 833146606136t f
B KEME S (NEEF) = 87.081861261797tf HBAEIRAKIEN S (h0ER) =  97. 735538632125t HEIRAIEE S (h0ER) = 109. 003851235358t #AFRIEMEH (ke = 120. 886799071494t
® AR/ MEE S (BER) = -79. 137559316533t #ElR/MEYE S (B = -88. 819323263894t H AR/ MEE S GBER) = -99. 059650515911t #AR/IMEYE S GRixEkrF) = -109. 858541072583t
#ABRKEH (EEEEAR)= 75.099856317227tf #ABKEH (EEEEAF)= 69.980121130481tf #ATRAEH (EEEEAR)= 68. 702452335429t F #ABRASH (EREEAM)= 78.062992886184tF
®RAEIS/NE D GEEEAR)= -19. 700291578891t f ®REIS/NE N (HEEEAF)= -29. 382055526252t f BEIE/NE S EREEAR)= -39. 622382778260t f BAESNESH EEEGARE)= -50. 421273334941tF
#AB Ko Oy FHEE = 73.123544308879tf #AIEKa Oy FAE = 68.138538995468tf #ABKa Oy FHAE =  66.894493063444tf #AFEKRKa Oy FEE = 76.008703599706tf
BABRKISVIHE = 71.815375240338tf BRABKYISVIOHE = 66.919550912602tf BABRKISVIHE = 65.366769755866tf ®BRABRKISVITE = 74.272831740150tf

avoy FERAER, 1 oO07r—4—LEBEUHADERELGY, 105 0MEFTETLTALERLET ., EHERARDEER%Z 105 0MEE, BAAHGEHE 105 0EELERELET .
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I 22 U EER#=200rpm
EXFZK FILY= 50.265tf-m
&/ FILY= -2.599tf-m
2EBK FLY= 60.145tfm
&/ RILY= 13.047tf-m
4EBK ML= 85 742tfm
BI/NRILS= 41.756tFm
6 ERZK ML= 118.266tf-m
B/NkILS= 67. 744tFm
8 EB K LS = 156. 697t m
&/ RILo= 90.713tf-m
10:EBK LS = 192. 756tF-m
&/ FILY= 114. 453t m
12EZK RV = 230. 544t F-m
B/ MUY= 137. 224tF-m
14EZK RV = 268. 742t m
B/ ML= 160. 140tf-m
16:E B K kLS = 308. 551tfm
&/ FJILY= 183. 231tfm
18EB K LS = 345. 449tfm
&/ FILY= 206. 192t m
20;EfRK FJL4= 383.518tf-m
B/ ML= 229. 290tf-m
22ERK FILY= 422.031tf-m
&/ RJILY = 252. 067t -m

I 2P EER#H=800rpn
EEXTZK FILY= 33.966tf-m
&=/ RILo= -0.298tf-m
2B KM= 50.456tf-m
&/ o= 7.271tf-m
4 FEBK L= 95 275tF:m
B/ L= 34.044tF-m
6 EiZ K MUY= 131.530tf m
B/ kLS = 56.081tf-m
8EBK FILJ=172.067tfm
&/MRILO= T75.793tf-m
10:EB K FJLS= 213. 249t m
&/DMRILo= 95 183tf-m
12&E &K kL= 256.013tf-m
B/ FJL%= 115, 158tf-m
14EFZK kL= 297.678tf-m
B/ ML= 133.376tF-m
16:EB K LS = 340. 668tF:m
&/ L= 153. 500t -m
18EB K LS = 383. 140tf:m
&=/ FILD = 172.571tf-m
20;EE K FJLY= 425.648tf-m
B/ LS =192.177tF-m
22;EE K ~ L= 466. 544tf-m
&/ FILY= 210. 887t -m

I 22 2 mEER#=1020rpm
EXRKFILY= 32.317tf'm
&/ FILY= -0.354tf-m
2EBK FLY= 59.161tf:m
&=/ RILO= 2.122tf-m
4EB K FILS= 103. 128t m
B/NkLS= 28 141tfm
6 ERZK FILY= 140.968tf-m
BI/INRLS= 46.912tFm
8 #EB K LS = 183.553tfm
&/ FILY= 63.954tf-m
10:EB K LS = 229. 367t m
&/ FILY= 80.792tf-m
128 &K FJL9= 275. 234t m
B/ kLS= 98.216tFm
14EZK FJLo= 319. 986t -m
B/ MUY= 113.279tfm
16:EB K kLS = 365.593tfm
&/ FILY= 131.146tf-m
186EB K ~LS= 411. 787t m
&/ FILY= 147. 333tf-m
20;E&Z K FJILY= 457. 313t m
B/ ML= 164.026tF-m
22;EJZK FJILY=501.189tf m
&/ FILY= 180. 270t f-m

I Y2 EER#H=1050rpm
EEXFZK FILY= 32. 144tf-m
&/MRILO= -0.556tf-m
2FEBK ML= 60.837tf-m
&/ RILO= 1. 174tF-m
4FEBK ML= 104, 345tF m
B/ FLS= 21.207tF-m
6 EEK ML= 142.432tfm
B/N MUY= 45.490tf-m
8EBK FJILS= 185. 341tfm
&/ RILo= 62 111tf-m
10EB K ~JLS= 231.867tfm
&/ RILO= 78.543tf-m
128 &K FILY= 278.222tfm
B/ FJLY= 95 532tf-m
148 &K FJLY= 323. 446tf-m
B/ MUY= 110.139tF-m
16:EB K ~JLS= 369. 477tfm
&=/ FILY= 1217, 672tF-m
18EB K ~JL2= 416. 230tfm
&=/ FILY= 143. 403t -m
20;EF K FILY= 462. 224tf-m
B/ ML= 159. 609tf-m
22:EF K ~ L= 506. 562t -m
&/ FILY= 175. 428t m

I ¥ mEER#=1080rpm
EXFRKFILY= 33.981tf:m
&=/ FILo= -0.833tf:m
2EBK FLY= 62 .587tf:m
&/ FILY=0.168tf:m
4;EBK LS = 105,599t m
B/NFLY= 26, 247tFm
6 ERK ML= 143.938tf-m
B/NFLY= 44.027tF-m
8 EBK L= 187. 294t m
&/ FILY= 60.213tf-m
10:EB K FILS= 234. 440tfm
&/D FILY= 76.228tf:m
12Z&K FILo= 281.297tf-m
B/NFLY= 92.710tFm
14EZK FILo= 327.007tF-m
B/ L= 106. 903tf-m
16:EB K ~JL S = 373.590tfm
&/ FILY = 124.098tf-m
18EB K FLS= 420. 802tFm
&/D FILY=139. 360tf-m
20E&ZK FILY = 46]. 2TTtT-m
B/NFJL%= 155.063tf-m
2285 K FILY=512.091tf-m
&/ FILD = 170. 445tf-m

I P EE#H=1110rpm
EEXFZK FILY= 35 790tf-m
&=/ FILY= -1.158tf-m
2FBK ML= 64,404t m
&/ RILY= -0.918tf-m
4FER K L= 106. 887tf m
B/ LS = 25.259tFm
6 EEREK ML= 145,487t -m
B/N ML= 42.522tFm
8EB K LS =189.301tfm
&/ FILY= 58.263tf-m
10:E B K kL= 237.085tfm
&/ FILO= 73.848tf-m
128 &K FILS= 284. 459tf-m
B/ FLS= 89.931tf:m
148 &K FJL-= 330.667tf-m
B/ FJL%S= 103.577tFm
16:EB K L= 377.819tfm
&/ FILY= 120. 423t -m
18E B K kL= 425.502tfm
&/ FILY= 135. 202t -m
20;EET K FILY= 472. 473tF-m
B/ FJL%= 150. 389tF-m
22E 8K ~JLY= 517. 716tf-m
&/ FILY= 165. 323t m

I oo EEE#=1140rpm
EEXFRKMILY= 37.649tf-m
&/ FILO= -1.546tf-m
2B K ML= 66.272tFm
&/ FILY= -2.050tf-m
4;EB K MILY= 108.211tf:m
B/NMILY= 24, 244tF-m
6 ERZK ML= 147.078tf-m
B/NFLY= 40.977tF-m
8 EB K ML= 191. 479t m
&/ FILO= 56.259tF-m
10:EZ K ~JLS= 239. 802tfm
&/ FILO= T1.402tf-m
12&EZK kL= 287. 707t -m
B/NFLY= 87.014tF-m
14EZK RV = 334. 428tF-m
B/ FJL%=100. 160tF-m
16:EB K LS = 382. 165t m
&=/D FILY= 116. 648t -m
18EB K ~JLS= 430. 331tfm
&=/ RS9 =130.931tf-m
20:ER K FLY= 477.811tf-m
B/N L= 145, 587tF-m
22;ER K ~JLY= 523.616tT-m
&/D FJILY = 160. 059t -m

o > ElEEE=1170rpm
Eikﬁk FJLO= 39.557tf-m
&=/ FILY= -2.024tf-m
2FBKNILY= 68.198tf-m
&=/ FILY= -3.282tf-m
4EB K FJILS=109. 570tfm
B/ L= 23.202tf:m
6 EZEA ML= 148. T12tf-m
B/ FLS=39.390tf-m
8EB K FJILS= 193. 765tfm
&=/ RILO= 54.201tf-m
10:ER K L= 242.592tfm
&/ FILY= 68.892tf-m
12E&ZK FILY = 291. 042tf-m
B/\FLS= 84.019tFm
14EZK FJL - = 338. 289tf-m
B/ FJLS= 96.651tFm
16:EB K kL= 386. 626tfm
&/ FILY= 112. 772t m
18EB K kL% = 435. 290tfm
&/ FJLY= 126. 546t m
20;EE K FJLY = 483.292tf-m
B/ MUY= 140. 657t m
22ER K FJLY = 529. 612tf-m
/M FJLY= 154. 656t -m

I 29 v EERE=400rpm
HEEBKFILY= 46.994tfm
B/INRILY= -1.497tfm
28R K MLY= 571.132tf-m
B/NRILY= 12.448tFm
A4EEZK ML= 86.156tF-m
&/ FILY= 40.307tf-m
6:EB K FILS= 120.270tfm
&/ FILY= 66.554tf-m
8 #EB K LS = 158.296tfm
B/ kJLS= 88.479tf-m
10EZ K FJLS= 195.834tf-m
B/ kLS= 111,827t m
12E8K ~LS= 234. 172t m
&/ RV = 134.161tf-m
1488 K FLY= 272. 346t m
&/ FJILY= 156. 173t m
165EZ A FJLS= 312.660tf-m
B/ JL%= 178. 681tf-m
18EZ K FJL = 350. 729t F-m
B/ FJL%Z= 201.520tF-m
20iERK ~LY= 389. 401tF:m
&/ FILY= 224.181tfm
22EBK ~ILY= 428, 689tf m
B/ FLS= 246. 154tF-m

I 2P mEERE=1000rpm
HAEBKFILY= 32 055tf:m
B/~ = -0.237tfm
2EzZK LY = 58.071tf:m
BINSILY= 2.729tFm
4ERK RV = 102. 335t -m
&/DMRILO= 28 748tf-m
6 EBK L= 140.016tf-m
&/DMRILO= 47 837tf-m
8EB K~ = 182.394tfm
B/ FJLS= 65.154tF-m
10:EzZK kL= 227. 141tf-m
B/NFLY= 82.254tF-m
12E8B K ~LY= 273.290tf:m
&/DMRILO= 99.962tf-m
146EB XK MUY= 317. 736tF:m
&/ FILY=115.321tf-m
16:&E&ZK kL= 363.078tf-m
B/ FL%= 133, 405tF-m
18:&E &K kL= 408.896tf-m
B/ LY = 149, 889tF-m
205K ~JLY= 454. 118tf m
&/ FJILY= 166. 900t -m
2B K ~ILY= 497.693tf m
B/ L= 183. 420tf-m

I 2P 2 EEEE=1030rpm
HEEXBKMILY= 32.452tf:m
B®/INRILY= 0. 413tf:m
2 RKA MLY= 59.714tf-m
B/NRILY= 1.809tf:m
45EHK ML= 103.530tF-m
&/ FILY= 27.833tf-m
6:EB K FILY= 141, 452tFm
&=/ RILY= 46.443tf-m
8EB K MILY= 184. 141tfm
B/ kJL%Z= 63.346tFm
10EZzK FJLo= 230.193tf-m
B/ kJL%Z=80.050tf-m
1288 XK LS = 276. 220t m
&/ RILY= 97.330tf-m
1488 K ~LS= 321.129tfm
=/ FILY= 112, 242t m
165E &K FJL S = 366.869tf-m
B/ ML= 129.999tf-m
18EZ K FILY= 413. 254t F-m
B/ ML= 146.036tF-m
20iER K ~JL4= 458. 934tf m
&/ FJLY= 162. 568t m
22EB K ~JL4= 502. 963tf:m
B/ kLS = 178, 671tfm

I 2P mEERE=1060rpm
HAEBKFILY= 32 896tf:m
B/ ~ILY= -0.648tfm
2HEZEK ML= 61.406tf-m
B/ ~ILY= 0.851tf:m
4EBRK FILY= 104, 759tf-m
&/MRILO= 26.890tf-m
6 EBEK L= 142.930tf-m
&/MRILO= 45 007t -m
8EBK ~JL-= 185. 986tfm
B/ MUY= 61.484tF-m
10EZK FJLY= 232. 717tfm
B/NMLY= T71.778tF-m
128K ~L2= 279. 238tfm
&/DMRILO= 94.620tf-m
1458 K L= 324. 622tfm
&/ L9 = 109. 070t -m
168 &K FJL - = 370. 835tf m
B/ MUY= 126. 492tF-m
18EZK ML= 417.739tfm
B/ MUY= 142.068tF-m
20K ~JLY= 463. 893tf m
&/ LY = 158. 108t -m
223K ~JL4 = 508. 388tf m
B/ kL= 173.782tF-m

I > ¥ mEEEH=1090rpm
HEEBK MUY= 34.579tf:m
B/INFILY= -0.927tfm
28z A ML= 63.187tf:m
B/ = -0.190tfm
45EHK ML= 106.024tf-m
&/ FILY= 25 920tf-m
6 EB K ML= 144, 450t m
&/ FILY= 43.530tf:m
8 EBK LY = 187. 957t m
B/NFLY= 59.569tf-m
10EZzK kL= 235.313tf-m
B/NFILY= 75 442tF-m
128K MILS= 282. 341tfm
&/ FILY= 91.833tf:m
1488 XK FLS= 328. 216t m
&/ RV = 105. 805t -m
165EzZK kLo = 374.987tF-m
B/NFILY= 122, 884tF-m
18EZK ML= 422. 354t F-m
B/~ = 137.987tFm
20:EH K ~JLS= 468. 994t m
&/ bV = 153.519tf-m
22EB K ~ILS= 513. 969t m
B/ ~JLY= 168. 753tf-m

I 2P vmEERH=1120rpm
HAEBKFILY= 36.404tfm
B®/INMILY = -1.286tf:m
2HEFZEK ML= 65.021tf-m
B®INMILY= -1.287tf:m
4EBRK ML= 107. 325tF-m
&/ FILO= 24.924tF-m
6 EBEA FILY= 146.013tf-m
&/ FILY= 42.012tF-m
8EB K ~JL-= 189.990tfm
B/ FJL%S= 57.601tfm
10E &K MUY= 237.982tf m
B/ ML%S= 73.040tf:m
1288 K kL= 285.532tfm
&=/ FILY= 88.967tf-m
1458 K L= 331.910tf:m
&/ FILY= 102. 448t -m
168K LS = 379. 255tf m
B/ MUY= 119.176tFm
18EZK FILY= 427.098tf-m
B/ ML= 133.791tFm
20K ~ILY= 474. 237tFm
&/ FILY= 148. 803t m
22K FJLY= 519. 705tfm
B/ kL= 163. 584tFm

I > ¥ 2 mEEEH=1150rpm
HEEBK MUY= 38.279tf:m
B/INFILY= -1.677tfm
28z K ML= 66.905tf m
BINFILY= -2.457EFm
45EHK ML= 108.660tf-m
&/ FILO= 23.900tf-m
6 ER K ML= 147.618tfm
&/ FILO= 40.452tF-m
8 EB K LY = 192,235t m
B/NFJLS= 55 579tF-m
10:EZK FLo= 240. 724t F-m
B/NFLS= 70.573tF-m
12E8 K LS = 288. 809tfm
&/ FILO= 86.024tF-m
14EB K ~JLS= 336, 704t m
&/D FILO=99.000tf-m
165z K kL= 383.639tF-m
B/~ = 115.367tF-m
18&EZK kL= 431.970tF-m
B/NFILY= 129, 482tF-m
20EH K ~ILY= 479. 622tF m
&=/ FILY= 143. 958t -m
22EB K ~ILS= 525,598t m
B/ RV = 158. 274t F-m

I mEEREH=1180rpm
HEEXBKNILY= 40.204tfm
®/INMILY= -2.338tf:m
2ERANFILY= 68.861tf-m
®/INMILY= -3.700tf:m
4EHK L= 110.031tf-m
&/ RILY= 22.849tf-m
6 EBA FILY= 149. 266t m
&/ FILY= 38.852tf-m
8EB K Y= 194. 540tfm
B/ FJL%S= 53.504tfm
10EZK FJLY = 243.538tf m
B/ FJL%Z= 68.040tf-m
12E8 K ~LY= 292.173tfm
&/MFILY= 83.003tf-m
14E8 K L= 339.598tfm
&/ RILYO= 95 461tf-m
165E &z A LS = 388. 138tf m
B/ MUY= 111.457tFm
18EZ K FILY = 436.971tf m
B/ FJL%= 125.059tF-m
203EH K ~JL4 = 485. 150tf m
&/ LY = 138. 986t m
225K ~JL4 = 531. 646tf:m
B/ kL= 152, 824tF-m

O U [EER#=600rpm
Eihik FILD= 41.553tf-m
&/ FILY= -0.659tf-m
2EBK FLY= 53.864tfm
&/ FILY= 10.616tf-m
4EBK ML= 89.909tfm
B/ kJL%S= 37.887tf-m
6 ERZK ML= 124.930tf-m
B/NRLY= 62.492tf-m
8EEZEK ML= 164. 034t m
&/ L= 83.879tf-m
10:EB K LS = 202. 429tfm
&/ FJLY= 105. 184t m
12EZK RV = 242.579tF-m
B/ ML= 126. 368tF-m
14EZK RV = 282.078tF-m
B/ MUY= 146.971tfm
16:EBK LS = 323. 237tfm
/M FJLY= 168. 865t m
18EBK kLS = 363. 625t m
=/ RV = 189. 962t -m
20;EfK F L= 403.566tT-m
B/ MUY= 211. 348tfm
22 ERK FILY = 443. 422tF-m
B/ L= 231, 945tF-m

< U EE#H=1010rpm
ERXZKFILY= 32.182tf'm
&/DMRILo= -0.295tf-m
2FEB K ML= 58.614tf-m
&/ RILO= 2.432tf-m
4 EBK ML= 102. 729tF:m
B/N VY= 28.446tF-m
6 EiZK MUY= 140. 490tf-m
B/NFLY= 41.377tF-m
8HEFZA LY = 182.971tf m
&/MRILO= 64557t m
10;EB K LS = 228. 550t m
&/MRILO= 81.528tf-m
12&E &\ K kL= 274. 257t -m
B/NFLY= 99.093tf-m
14&EHZK kL= 318.855tf-m
B/ ML= 114, 305tF-m
16:EB K LS = 364. 329t m
&=/ FILY = 132. 281t m
18EB XK LS = 410. 335t m
&=/ FILY= 148.617tF-m
20;E 5K ~JLY= 455, 708tf-m
B/ ML= 165. 470tF-m
28R K F L= 499. 432t -m
B/ kL= 181, 853tf-m

< > ElE5%=1040rpm
Eihik rILO= 32 593tf ‘m
&=/ FILY= -0.473tf-m
2EBK FLY= 60.273tfm
&/ RILY= 1.493tf-m
4EB K LS = 103.936tFm
B/ kLS = 27.522tf-m
6 EZK ML= 141.940tf-m
B/NRLS= 45.969tf-m
8EEZEK MLy = 184,735t m
&=/ RILY= 62 731tf-m
10:EB K LS = 231.026tFm
&/ RILY=19.300tf-m
12EZK RV = 277. 216t -m
B/ kJLS= 96.435tfm
14EZK RV = 322. 282t m
B/ LS= 111.196tFm
16:EB K LS = 368. 158t m
&/ RV = 128. 841t m
18EB K LS = 414, 735t m
&/ FILY= 144, 726t m
20K FJLY= 460.571tf-m
B/ ML= 161.095tF-m
22ER K F LY = 504. 754tf-m
B/ kLS = 177.057tFm

O v EEREH=1070rpm
EEXFZK FILY= 33.389tf-m
&=/MRILo= -0.740tf-m
2EBK ML= 61.992tf-m
&/DMRILO= 0.524tf-m
4FEBK ML= 105, 177tFm
B/ FLY= 26.570tF-m
6 EEK ML= 143.432tfm
B/NFILY= 44.519tF-m
8HEHZK LY = 186.637tf-m
&/MRILO= 60.852tF-m
10E B K ~JL-= 233.574tfm
&/MRILo= T77.007tf-m
128 &K FJLS= 280. 263tf-m
B/ FLS= 93.700tf-m
148 &K LS = 325.809tf-m
B/ MUY= 107.992tF-m
16:EB K ~JL-= 372. 206tf:m
&/ FILY= 125.301tf-m
18EB K L= 419. 263tfm
&/ FILY= 140. 720t -m
20;E 5K ~JLY= 465.577tf-m
B/ FJLY= 156. 592t F-m
22:E &K ~JLY= 510.231tf-m
B/ LY = 172.122tF-m

< > EEE#=1100rpm
EJISE* ~ILO= 35. 182tf ‘m
&/ RILo= -1.031tf:m
2EBK FLY= 63.793tf:m
&/ FILD= -0.552tf-m
4EBK LY = 106. 454t m
B/NFLY= 25.591tf-m
6 ERK ML= 144.966tf-m
B/NFLY= 43.028tf-m
8HRZK ML= 188.626tf-m
&/ FILY= 58.919tf-m
10:EB XK FJLS= 236. 195t m
&/ FILY= T74.648tf-m
128 &K kLo = 283.395tF-m
B/ANFLY= 90.886tF-m
14EZK RV = 329. 436tF-m
B/ FJLZ7= 104. 696tF-m
16:EB K FJLS= 376. 397t m
&=/ BT = 121. 659t -m
18EB K MILS= 423.921tfm
&=/ FILY=136.601tf-m
20;ER K FJILY= 470. 725t -m
B/NFLZ= 151.961tf-m
22;ERK FJLY= 515.864tf-m
B/INFJLY= 167. 046tF-m

I 2P UmEE#=1130rpm
EEXFZK FILY= 37.024tf-m
&=/ FILY= -1.415tf-m
2FB KL= 65.644tfm
&=/ FILY= -1.659tf-m
4FEBK ML= 107. 766tF:m
B/ FJLS= 24.585tF:m
6 EREK ML= 146,543t m
B/NFILS= 41.496tFm
8HEHZK LY = 190.730tf-m
&/ FILY= 56.933tf-m
10:EB K kL= 238. 888tf:m
&/ FILO= 72.225tF-m
128 &K MUY= 286.615tf-m
B/ MUY= 87.995tFm
148 &K FJLS= 333.163tf:m
B/ ML= 101.309tFm
16:EB K kL%~ = 380. 703tf:m
/D FILY=117.917tF m
18EB K LS = 428. 707tfm
&/ FILY= 132. 368t m
20;EE K FJLY= 476.016tf-m
B/ MUY= 141, 202tFm
22EF K FJLY= 521.652tf-m
B/ kL= 161.829tFm

< > EEE#=1160rpm
EJISE* ~ILO= 38. 916tf ‘m
&=/ RILo= -1.841tf-m
2EB K FILY= 61.544tfm
&/ FILO= -2 868tf-m
4EBK ML= 109. 113tf:m
B/NFLY= 23.552tF-m
6 ERK ML= 148.163tf-m
B/ANFLY= 39.923tf-m
8HERZK ML= 192.997tf-m
&/ FILO= 54 893tf-m
10:EB K FJLS= 241, 654tFm
&/ FILO= 69.736tF-m
12&EZK RV = 289.921tf-m
B/NFLY= 85.026tF-m
14EZK kL= 336.991tF-m
B/NFLY= 97.831tF-m
16:EB K LS = 385, 126tfm
&=/ FILY= 114.075tf-m
18EB K LS = 433. 623t m
&=/ FILo=128.020tF-m
20;ER K FJLY= 481. 449t -m
B/ RS = 142, 315tF-m
22;ER K ~JLS= 527.596tf-m
B/~ = 156. 473tF-m

o > ElEE%=1190rpm
Eikni)t rILO= 40. 857tf ‘m
&/ FILY= -2.654tf-m
2FBK ML= 69.530tf-m
&=/ RILY= -4.121tf-m
4EBK FILS= 110. 496tFm
B/ ML= 22.493tfm
6 EEK ML= 149, 824tf-m
B/ FJL%S= 38.309tf-m
8HEHZK MLy = 195,322t -m
m&/MRILY= 52.800tf-m
10:EB K FLY = 244. 492tfm
&=/ FILY= 67.182tf-m
12E&ZK FJLY = 293. 313tf:m
B/ FLS= 81.979tf:m
14EZK FJLS = 340.919tf-m
B/NFLS= 94.261tF-m
16:EB K kL= 389. 664tf-m
&/ FJLY= 110. 132t m
18EB K kL= 438. 666tf-m
&/ FJLY= 123. 559t m
20;EF K F LY = 487.024tf-m
B/ ML= 137.300tF-m
22ER K FJLY = 533. 696tf-m
B/ L= 150.976tF-m

HAEE LY, (EREH A+ RS + R TRRIC & U AT S h LY & BEFGERIC & U RET B LY EAR LI MUY ISAL z : Kk - -
e R o i SRR S il e B FLYERRLE MY ICRYET, HAMCRET 2R LNERE, TCASHED FLYICEYRELETOT,

, 105E=18° , 12:E=15° , 14;E=12. 86°

, 165E=11.25° , 18;&=10.0° , 20;&=9. 0°

, 223#=8.18° TfEHT

HWAHBICRET SR LAEREIX. 8D FILIHBNENEDISRAERELFEA.



L

BE ~IL Y R

I 22 v EER#H=200rpm
EXFZK ML= 0.944tf-m
&/ RILY= -0.829tf-m
2;EF K FILY= 0.846tf-m
&/ RILY= -0.759tf-m
4EBK MILY= 0.776tf-m
BNV = -0.599tf:m
6ERZK FLY=0.756tf-m
B/INRILY= -0.615tF:m
8EB K ML= 0.868tf-m
&=/ RILY= -0.762tf-m
10:ERK FJLY=  1.002tFm
&/ RILY= -0.897tf-m
12EZ K FLY= 1.148tf-m
B/INRILY= -1.050tf:m
14EZK FLY= 1.283tf-m
BINLY= —1 252tf-m
16ERK FJLY=  1.531tfm
=/ RILY= —1 310tf-m
186EBRK ML= 1.613tfm
&/ FILY= -1.529tf-m
20ERK L= 1.772tf-m
B/INRILY= -1.690tF:m
22ERK L= 1.953tf-m
&=/ RILY= -1.852tf-m

I > U EEEH#=800rpm
EEXEZKFILY= 15.106tf-m
&/M FILO=-13.279tf-m
2FEB KM= 13.540tf:m
&/DM IV = -12.149tf-m
4EBK L= 12.426tF:m
B/ BILY= -9.591tfm
6 EREA ML= 12.104tf:m
B/ ~ILY= -9.855tFm
8EBK ML= 13.892tf:m
&/DM IV =-12.194tF-m
10:ER K ~JLY= 16.037tf:m
&/ IV = -14.361tf-m
128z K FILY= 18.369tf-m
B/ VY= -16.812tF-m
148EZK FILY= 20.532tf-m
B/ FLS= -20. 040t F-m
16:ERK ~JLY= 24.506tF:m
&/ FILO=-20.969tf-m
18EBR K FLY= 25.813tf:m
&/ RV = -24. 474t F-m
20;E&ZK ~ILY= 28.366tf-m
B/ FLY= -21.046tF-m
228EK ML= 31.260tf-m
&/ RILO=-29. 634tF-m

I 2P EER#=1020rpm
EXFZK FILY= 24.558tf-m
&/ FILY= -21.587tf-m
2EBK LY== 22.012tfm
&/ FILY= -19. 750tf-m
4EB K ML= 20.201tfm
B/ FJL%= -15.592tfm
6 ERZK FILY= 19.677tf-m
B/ kL%S= -16.021tf-m
8EB K ML= 22.584tfm
&/ IV = -19. 824tf-m
10:EB K kL= 26.070tfm
&/ LY = -23. 346tf-m
128z K FLY= 29.861tf-m
B/ MUY= -27.330tfm
14EZK FLY= 33.377tfm
B/ hL%S= -32.578tFm
16:EB K ~LS= 39.838tfm
&/ FILY= -34.088tf-m
186EBK ML= 41.963tFm
&/ FILY= -39. 786tf-m
20K FJLY= 46.113tf-m
B/ LS = -43.967tFm
228K FJLY= 50.818tf-m
&/ RV = 48174t -m

I Y2 EER#H=1050rpm
EEXFZK FILY= 26.024tf-m
&/ RV = -22.876tF-m
2EBKMILY= 23.326tf-m
&/ FILO=-20.929tf-m
4EBKRKILY= 21.407tF:m
B/ MUY= -16.522tF-m
6 EEK ML= 20.851tf-m
B/ MUY= -16.977tF-m
8EBK ML= 23.932tf:m
&/M FILY=-21.007tf-m
10EB K MLY= 21.626tfm
&/ RV = -24. 739t F-m
128&ZK ML= 31.644tfm
B/ FLY= -28.962tF-m
148ZK FJLY= 35.369tf:m
B/ ML= -34.523tF-m
16EB K ML= 42.216tfm
&/ FILY=-36.123tf-m
18EB K ML= 44.468tfm
&/M IV = -42.161tf-m
20;EE K ~JLY= 48.865tf-m
B/ MUY= -46.591tF-m
22E K ~JLY= 53.851tf-m
&/M FILO = -51.049tF-m

I EEE#=1080rpm
EXFRKFILY= 21.532tf:m
&/ FILY = -24.202tfm
2B K ML= 24.678tf:m
&/ FILY = -22.142tfm
4EBK ML= 22.647tF:m
B/ RV = -17. 480tf-m
6 ERZK FILY= 22.060tf-m
B/NFLY= -17.961tFm
8EBK ML= 25 .319tf:m
&/ FILD = =22, 225tf m
10EB K ML= 29.227tFm
&/ FILY=-26.173tf-m
12Z&K FLo= 33.478tf-m
B/ L= -30. 640tf-m
14EZK FLo= 37.419tf-m
B/ FLY= -36.524tF-m
16:EBK ML= 44.663tFm
&/D FILY = -38. 216tf m
186EBK ML= 47.045tFm
&/D F LY = -44. 604tf-m
20E&ZK L= 51.698tf-m
B/NFILY = —49.292tFm
228EK L= 56.973tf-m
&/ kLY = -54.008tf-m

I vEERE#=1110rpm
EEXFZK FILY= 29.083tf-m
&/ FILY= -25.565tf-m
2FEBAK ML= 26.068tf-m
&/ FILY=-23.390tf-m
4FEBK Y= 23.923tf:m
B/ L% = -18. 465tTm
6 EEA ML= 23.302tf-m
B/ LS = -18.973tFm
8EBK KL= 26.745tfm
&/ L= -23. 477t -m
10:EB K ~LS= 30.873tfm
&/ LY = -2]7. 647t -m
128 &K FJLY= 35.363tf:m
B/ ML= -32.366tT:m
148ZK ML= 39.527tf:m
B/ L% = -38.581tFm
16EB K ML= 47.178tfm
&/ FILY= -40.369tf-m
18EB K ~LS= 49.695tfm
&/ IV = 47 117tF-m
20;EEm K ~JLY= 54.610tf-m
B/ ML= -52.068tF-m
22E K FILY= 60.182tf-m
&/ FILY= -57.050tf-m

I oo EEE#=1140rpm
EXFRKFILY= 30.676tF-m
&/ LY = -26. 965t -m
2EB K ML= 21.496tf:m
&/ RV = -24. 671tf-m
4EBK ML= 25.234tF:m
B/NFILS= -19. 476tF-m
6 ERK ML= 24.579tf-m
B/ FLS= -20.013tF-m
8EB K ML= 28.210tf:m
&/ FILO=-24. 763t m
10:EB K ~JLS= 32.565tFm
&/ FILO=-29.162tF-m
128&%K F)Lo= 37.301tf-m
B/NFLY= -34.139tF-m
148ZK FILY= 41.693tf-m
B/ FLY= -40. 694tT-m
16:EBK ML= 49,763t m
&/ FILO=-42. 581tf-m
18EB K ML= 52.417tfm
&/ FILY=-49. 698tf-m
20;E&K kLY = 57.601tf-m
B/N RS = -54.921tF-m
2285 K FILY= 63.479tf-m
&/ kLY = -60.176tF-m

o > ElEEE=1170rpm
Eikﬁk FILO= 32.312tf:m
&/ FILY= -28.403tf-m
2FBKRK ML= 28.962tf-m
&/ RV = -25.987tf-m
4EBK ML= 26.579tfm
B/ FJL%= -20.515tfm
6 EEZEA ML= 25.889tf-m
B/ FJL%S= -21.080tfm
8EBK KL= 29.715tfm
&/ R ILY= -26.083tf-m
10:EB K ~LY= 34.301tf:m
&/ FILo=-30. T17tf-m
12E&Z K RV = 39.290tf:m
B/ bJL%= -35.960tF-m
14EZK FLY= 43.916tf:m
B/ MUY= -42.864tFm
16:EBK ML= 52.417tfm
&/ IV = -44.851tf-m
18EB K kLS = 55.213tfm
&/ LY = -52. 348tf-m
20;EFw K LY = 60.673tf-m
B/ L= -57.849tf-m
22ERK LY = 66.864tf-m
&/ kLY = —-63. 385t -m

I 29 v EER#=400rpm
HEEXBK MUY= 3.776tfm
B/INRILY= -3.319tf:m
28R A MLY= 3.385tf-m
B/INRILY= -3.037tf:m
AEHRFLY=  3.106tf-m
&=/ RILY= -2.397tf-m
6 ERK FILY= 3.026tf-m
&=/ RILY= -2.463tf-m
8EBKA MILY= 3.473tfm
B®/INRILY= -3.048tf:m
10EZK F)LY= 4.009tf-m
B/NRILY= -3.590tf:m
128K ML= 4.592tfm
&=/ RILY= -4.203tf-m
14ERK FILY=  5.133tf:m
&/ RILY= -5.010tf-m
16EZA F)LY=  6.126tF-m
BNV = -5.242tfm
18EZ K FILY=  6.453tf-m
B/NRILY= -6.118tf:m
20EBAKRILY=  1.091tf:m
&=/ RILY= -6.761tf-m
2EBJ/ARNLILY= 1.815tF:m
B/INKILY= -1.408tF:m

I 2P mEERE=1000rpm
HAEBKFILY= 23 604tf:m
B/ FLS= -20. 749t F-m
2EZK ML= 21.157tfm
B/ kL= -18.983tf-m
4ERRK VY= 19.416tf-m
&/DM IV = -14.986tF-m
6 EB A ML= 18.912tf:m
&/M FILO=-15.399tf-m
8EBK KL= 21.707tf:m
B/ FLS= -19.054tF-m
10:#E&ZK FJLY= 25.057tf-m
B/ LY = =22, 439tF-m
12E8K ~LY= 28.702tf:m
&/ FILO=-26.269tf-m
14GEBK ML= 32.081tf:m
&/ FILO=-31.313tf-m
165z K FJLY= 38.291tf-m
B/ ML= -32.764tF-m
18&E®Z K kL= 40.333tf-m
B/ ML= -38. 241tF-m
20FER K FILY= 44.322tf:m
&/M FILO = -42. 260t -m
2B K ML= 48.845tf:m
B/ L= -46. 303tF-m

I 2P 2 EEEE=1030rpm
HEEXBKMILY= 25.042tf:m
B/ MLS= -22.013tfm
28R K MLY= 22.446tf-m
B/ FL%S= -20. 140tf-m
A4EERK ML= 20.599tF-m
&/ LY = -15.899tf-m
6 EB K ML= 20.064tf:m
&/ FILY= -16.337tf-m
8EB K ML= 23.029tfm
B/ MLS= -20. 214tfm
10EZK FLY= 26.583tf-m
B/ FL%S= -23.806tFm
1288 K kLS = 30.450tfm
&/ FILY= -27.869tf-m
1488 K L= 34.035tFm
&/ LY = -33. 220tf-m
165EzZA FILY= 40.623tF-m
B/ hL%S= -34. 760tf-m
18EZAK FILY= 42.790tf-m
B/ FL%S= -40.570tf-m
20EBK FILY= 47.022tf:m
&/ R ILY= —44.833tf-m
22EB K FILY= 51.819tfm
B/ LS = -49.123tfm

I 2P mEERE=1060rpm
HEBKFILY= 26.522tfm
B/ MUY= -23.314tF-m
2HEFZEK ML= 23.772tfm
B/ MUY= -21.330tf-m
4EBRRK LY== 21.816tf-m
&/ FILY=-16.839tf-m
6 EBK ML= 21.250tf-m
&/M FILO=-17.302tf-m
8EBKKFILY= 24.390tf:m
B/ MUY= -21. 409tF-m
10EZK ML= 28.154tfm
B/ ML= =25, 213tF-m
128K ML= 32.249tfm
&/ FILY=-29.516tf-m
14558 K ML= 36.046tf:m
&/ FILY=-35.183tf-m
168K ML= 43.024tf:m
B/ FJLY= -36.814tF-m
18EZ K ML= 45.319tf:m
B/ FLY= -42.968tF-m
20FER K ~LY= 49.801tfm
&/ FILO= -47.483tf-m
2B K ~ILY= 54.882tf:m
B/ bLY= -52.026tF-m

I > ¥ mEEEH=1090rpm
HEEBKMILY= 28.044tf:m
B/~ = -24. 652tF-m
28z K ML= 25.137tf:m
B/ LY = -22.554tFm
A4EHK ML= 23.069tf-m
&/D FILY = -17.805tf m
6 ERK FILY= 22.470tf:m
&/D FILY = -18.296tf m
8EBK ML= 25.790tf:m
B/~ = -22.638tF-m
10EZK FLo= 29.771tf-m
B/ FJLY = -26. 660tT-m
1288 K ML= 34.100tf:m
&/D FILY=-31. 210tf m
1488 K ~ILY= 38.115tFm
&/D M LY = -37. 203tf-m
165EzZA kL= 45.493tf-m
B/~ = -38.927tFm
18EZK kLY = 47.920tf-m
B/N LY = —45. 434tFm
20:#EH K ~JLY= 52.659tF:m
&/D FILY = -50. 209tf-m
22EB K ~LSY= 58.033tf:m
B/ ~JLY= -55.013tf-m

I 2P vmEER$=1120rpm
HEBKFILY= 29 609tf:m
B/ L= -26.028tFm
2HEFZEK ML= 26.540tF-m
B/ L= -23.813tfm
4EBRR LY== 24 356tF-m
&/ LY = -18.799tf-m
6 EBK ML= 23.724tf'm
&/ L= -19.317tf-m
8EBK ML= 27.229tfm
B/ ML= -23.902tFm
10:EZK FLY= 31.432tf:m
B/ FJL%S= -28.148tFm
128K ~L2= 36.003tf:m
&/ FILY= -32.952tF-m
14558 K ML= 40.242tfm
&/ FILY=-39. 279t f-m
168K FJLY= 48.032tf:m
B/ MUY= -41.100tFm
18EZ K FJLY= 50.594tf-m
B/ MLY= -41.970tFm
205K ~JLY= 55 598tf:m
&/ FILY=-53.011tf-m
225K FILY= 61.271tfm
B/ kL% = -58.083tf-m

I > ¥ 2 mEEEH=1150rpm
HEEXBK ML= 31.217tf'm
B/NFLY= =21, 441tF-m
28R K ML= 21.981tf:m
B/~ = -25.106tF-m
AEHK FILY= 25.678tf-m
&/ FILO=-19.819tf-m
6 ER K MILY= 25.012tf:m
&/D FILY=-20. 365t -m
8EBK ML= 28.707tf:m
B/ FJLS= -25.199tF-m
10:&EZzK kL= 33.138tf-m
B/ RIS = -29. 676tF-m
12E8K ~LS= 37.958tfm
&/ FILO= -34. T41tf-m
1GEBK ML= 42, 427tFm
&/ RV = -41. 412t -m
165z K kL= 50.640tf-m
B/NFILY= -43.331tF-m
18&EZK kL= 53.341tf-m
B/NFLY= -50.574tF-m
20EH K ~JLSY= 58.616tF:m
&/D FILY= -55.889tf-m
2B K ~ILY= 64.597tF m
B/NFLY= -61. 236tF-m

I mEEREH=1180rpm
HEEXBKNILY= 32 867tf'm
B/ L= -28.891tfm
2ERA FILY= 29.459tf-m
B/ ML= -26. 433tfm
AEHERKFILY= 27.036tF-m
&/ R ILY=-20.867tf-m
6 EB K FILY= 26.334tfm
&/ RV = -21. 442t -m
8EB K FILY= 30.225tfm
B/ FJL%S= -26.531tfm
10EZ K F)LY= 34.890tf:m
B/ MUY= =31, 244tFm
12E8 K ~L-=39.964tf:m
&/ kLY = -36.577tf-m
14EB K ML= 44.670tfm
&/ M LY = -43. 600tf-m
165E&Z A F)LY= 53.316tf:m
B/ FJL%Y= -45.621tfm
18EZ K F)LY= 56.160tf-m
B/ bJL%Y= -53. 247tFm
20ES K FILY= 61.714tfm
&/ FILY= -58. 843tf-m
22ES K FILY= 68.012tfm
B/ kLS = -64. 473tFm

O U [EER#=600rpm
EKﬁk FILO= 8.497tf-m
&=/ RILY= -7.469tf-m
2B K FILY= 1.616tF-m
&=/ RILY= -6.834tf-m
4EBK MILY=  6.990tf-m
B/ ILY= -5.395tf:m
6 ERZK FILY= 6.808tF-m
B/ RILY= -5.543tf:m
8HEFZK ML= 71.814tf:m
&=/ FILY= -6.859tf-m
10:ERK FJLY= 9.020tfm
&/ FILY= -8.078tf-m
12EZ K F)Lo= 10.332tF-m
BNV = -9.457tFm
14EZK FLY= 11.549tF-m
B/ LS = -11.272tFm
16:EBK ~ILS= 13.784tfm
&/ FILY=-11.795tf-m
18EB K FILY= 14.520tfm
&/ R ILY=-13.766tf-m
20;EfRK LY = 15.956tf-m
B/ FL%S= -15.213tfm
22ERK FILY= 17.584tf-m
B/ kL= -16. 669tf-m

< omEEEH=1010rpm
EEXTZK FILY= 24.079tf-m
&/DM IV =-21.166tf-m
2FEBK ML= 21.582tf:m
&/M FILO=-19.365tF-m
4FEBK L= 19.807tF:m
B/ L= -15.287tF-m
6 ERZA ML= 19.293tf:m
B/ L= -15.708tf-m
SHEFZA ML= 22.143tf:m
&/DM IV =-19. 437t -m
10:EB K FJLSY= 25.561tf:m
&/ FILO=-22.890tf-m
12&EJ|K kLY = 29.278tf-m
B/ LY = -26.797tF-m
14EFZK kLY = 32.726tf-m
B/ FLY= -31.942tF-m
16:EBK ~JLY= 39.061tf:m
&/ VY= -33.423tf-m
18GER K ML= 41,144t m
&/ FILo=-39.010tf-m
20:ER®R K ~JLY= 45 213tf-m
B/ LY = -43.109tF-m
22;ER K FILY= 49.827tf-m
B/NFILY= -41. 234t F-m

< > ElE5%=1040rpm
Eihik ~ILO= 25. 530tf-m
&/ FILY= -22. 442t -m
2EBK FLY= 22.884tf:m
&/ FILY= -20.533tf-m
4EBK ML= 21.001tfm
B/ FL%S= -16.209tf-m
6 ERZK ML= 20.456tf-m
B/ kL= -16. 656tF-m
8HEEZK ML= 23.478tf-m
&/ LY = -20. 609tf-m
10EBK ML= 27.102tfm
&/ FILY= -24. 270t f-m
128&ZK F)LY= 31.044tF-m
B/ LY = -28. 413tfm
14EZK FLY= 34.699tF-m
B/ FJL%= -33.868tFm
16:EBK ~ILS= 41.415tFm
&/ FILY= -35.438tf-m
186EBK ML= 43.625tFm
&/ RV = -41.362tf-m
20K LY = 47.939tf-m
B/ hL%S= -45.708tf-m
22BN FJILY= 52.831tf-m
B/ hJL%S= -50.082tf-m

O v EEE#=1070rpm
EEXFZK FILY= 27.024tf-m
&/ LY = -23. 755t f-m
2FEBK ML= 24.223tf-m
&/ IV = -21. 734t F-m
4EBKRKNILY= 22 230tF:m
B/ MUY= -17.158tf-m
6 EEK ML= 21.653tf-m
B/ MUY= -11.630tf-m
S8HEZEK ML= 24.852tf:m
&/M FILY=-21.815tf-m
10EB K L= 28.688tf:m
&/ RV =-25.691tf-m
128&ZK ML= 32.860tf:m
B/ FJLY= =30.075tF-m
148EZK ML= 36.730tf:m
B/ bJL%= -35. 850tF-m
16EB K ML= 43.839tf:m
&/ LY = -37.512tf-m
18EB K ML= 46.178tfm
&/ FILO = -43. 782t m
20;E& K ~JLY= 50. 745tf-m
B/ FJLY= -48.383tF-m
22E K ~JLY= 55.922tf-m
B/ bJLY= -53.013tf-m

< > EEE#=1100rpm
§$ﬁk ~ILO= 28. 561tf-m
&/D LY = -25.106tf-m
2B K ML= 25.600tf-:m
&/ R ILY=-22.970tf m
4EBK ML= 23,494t m
B/NFLY=-18.133tfm
6 ERK ML= 22.884tf-m
B/ L= -18.633tfm
8HERZK ML= 26.265tf-m
&/M FILY = -23.055tf m
10:EB XK ~LS= 30.319tfm
&/ FILY=-27.151tfm
128ZK kLY = 34.729tF-m
B/~ = -31.786tF-m
14EZK kL= 38.818tf-m
B/~ = -37.889tf-m
16:EBK ML= 46.332tFm
&/D FILY = -39. 645tf-m
186EB K ML= 48.803tf:m
&/ FILY = -46. 272tfm
20;ER K FJLY= 53.630tf-m
B/NFLY= -51.134tF-m
22;ERK FILY= 59.102tf-m
B/~ = -56.027tFm

I 2P omEE#=1130rpm
EEXFZK FILY= 30.140tf-m
&/ FILY= -26. 494t F -m
2EBAK ML= 21.016tf-m
&/ IV = -24. 240t -m
4EBKRKNILY= 24.793tF:m
B/ FLS=-19.136tFm
6 EFEA FMILY= 24.149tf-m
B/ MUY= -19.663tfm
S8HEFZEK ML= 21.717tf:m
&/ FILY=-24.330tf-m
10:EB K ~L2= 31.996tf:m
&/ LY = -28.653tf-m
128&ZK FJLY= 36.649tf-m
B/ FJL%= =33, 543tFm
148z K FILY= 40.964tf-m
B/ FJL%S= -39.984tFm
16:EB K ~L-= 48.894tfm
&/ L= -41. 837t -m
18EB K ~L-= 51.502tfm
&/ LY = -48.830tf-m
20;EE K FJLY= 56.595tf-m
B/ L= -53.961tFm
22Ew® K LY== 62.370tf-m
B/ L= -59. 125tFm

< > EEE#=1160rpm
§$ﬁk rILO= 31. 762tf ‘m
&/ R ILO=-27.920tf-m
2B K ML= 28.469tf:m
&/D FILO = -25.544tF-m
4EBK ML= 26.127tF:m
B/ ~LS= -20.166tF-m
6 ERK ML= 25.449tf-m
B/NFLY= -20. 721t F-m
8HEZK ML= 29.209tf-m
&/ FILO=-25.639tf-m
10:EB K ~LS= 33.717tfm
&/D FILO=-30.194tF-m
12&EZK kL= 38.621tf-m
B/ ~JL%= -35. 348tF-m
14EZK LY== 43.168tf-m
B/NFILY= -42.135tF-m
16:EB K FJLS= 51.524tfm
&/ LY = -44.088tF-m
18EB K FLS= 54 273t m
&/D FILY= -51.457tF-m
20:ER K FJLY= 59.640tf-m
B/ ~JL%= -56. 865tT-m
22;ERK LY== 65.726tF-m
B/~ = —62. 306tF-m

o > ElEE%=1190rpm
Eikni)t kL= 33. 426tf ‘m
&/ FILY=-29.383tf-m
2FBKRK ML= 29.961tf-m
&/ FILY= -26. 883tf-m
4EBKRK ML= 27.496tFm
B/ MLY= -21.222tFm
6 ERZEKA ML= 26.782tf-m
B/ MUY= -21.807tfm
8HEHZEAFILY= 30.739tf-m
&/ FILY= -26.983tf-m
10:EB K ~JLS= 35.484tfm
&/ FILY= -31.776tf-m
12EZ K RV = 40.644tf-m
B/ FJL%= =37.200tf-m
14EZK RV = 45.430tf:m
B/ MUY= -44.342tFm
16:EB K FILS= 54, 224tfm
&/ R ILY= -46.398tf-m
18EB K ~LY= 57.116tfm
&/ LY = -54.153tf-m
20;EF K LY = 62.765tf-m
B/ FLY= -59. 844tf-m
22ER K FJILY= 69.169tf-m
B/ kL% = —65.570tFm

&% : EXICx L TOLRIEA - 2:#=90° , 45E-45" , 6;8=30" , 8iE=22.5°

, 105E=18° , 12:E=15° , 14;E=12. 86°

, 165E=11.25° , 18;&=10.0° , 20;&=9. 0°

, 223#=8.18° TfEHT
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ereser R A

292V HEER = 196.000000000000mm

BE7—LBBER = 380.000000000000mm 2

?;E Ef %ﬂl ~9I VO MDIER = 600.000000000000mm p ///%//////////// -
L o 3 %%%%%%%7'/ I/
Cafyie s wewnn RGN S U )

.

IV ymEH =200rpm IV UREXR =1080rpm
BAAHEXE FIL = 0.944184497073tf m BAAHERE L= 27.532419934655tF m \
BATHY FHE = 0.169451632641tf BATYY FHE = 4.941209607799tf
TooUmER =400 Ty mER  =1090 o ‘ // 7
ﬁiéﬁfziﬁﬁ FILo= 3.”7”96737988293tf-m ﬁiéﬁziﬁﬁ kL= 28. 52'2640024317tf-m %//////////////////////////////////////////////// %
BATYH Y F&E = 0.677806530562tf BATY Y FAE = 5.033137118506tf % %
IV VEGEHR =600rpm IV VEEH =1100rpm % %
BASHEXE FIL = 8. 497660473659t m BAAHEYE FIL o= 28.561581036465tF m % %
BATHY FHE = 1.525064693765tf BATY Y FHE = 5.125911887377tf % %
IV UG =800rpm IV VEER =1110rpm % %
BEAEREME F/IL Y= 15 106951953172tF-m BEASREM FL Y= 29.083242971098tF m % %
BATYY FEE = 2.711226122249tf BAITY Y FAE = 5.219533914411tf %
IV VEES  =1000 Ty VEEGEHR  =1120 /
Eiéﬁ“ﬁé kL= 23 58'2612426830tf-m E;éﬁﬂﬁé FILY= 29.58'3625828216tf-m Z Z
BATHY FHE = 4.236290816014tf BATY Y FHE = 5.314003199608tf % /
IV ymEH =1010rpm IV yEEHR =1130rpm é %
BASEERR L R BRSBER AL LI . .
4 > ] = . ~ > cl = .

. %
T Tl e %f/////////////////////////////////////////////////////// /////%é
BRXY9Y MFE = 4.407436964981tf BRXY 9 FHE = 5.505483544492tf \\\\§ //////,,, %\\\\%&
IV ymEH =1030rpm IV VEEHR =1150rpm § §
BEAEREN FL Y= 25 042133323624tF-m BEASREN FL o= 31.217099934483tF-m § §
BATHY FHE = 4.494280926709tf BATY Y FHE = 5.602494604179tf § §\
IV vEGEH =1040rpm IV VEER =1160rpm § §
BEAEMEYE FJILSY= 25 530748800860tF m BASHMENE FIL Y= 31.762366481543tF m § §
BATYHY F&E = 4.581972146601tf BAIY Y FAE = 5.700352922029tf § §
IV UEER =1050rpm IV VEER =1170rpm § §
BEAXEREM FL Y= 26.024085200581tF m BEASREN FL o= 32.312353951088tF-m § §
BATHY FHE = 4.670510624656tf BATY Y FAE = 5.799058498042tf § §\
IO vEEH =1060rpm IO VEEHK =1180rpm § §
BAAHEY FILY= 26.522142522787tf m BAAHIEY L= 32.867062343119tF m § §
BATH Y F&E = 4.759896360873tf BRI FAE = 5.898611332218tf § §\
IYe YA =1070 IV YA =1190 \ \‘
ﬁiéﬁfiiﬁ%%;bfﬁ 27. 55'2920767478tf m E;é&@%%)b9= 33.55'3491657635tf-m A\ AN\
BATHY FHE = 4.850129355255tf BATH Y FHE = 5.999011424558tf TY B TY9Y kB
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O—4—HEXE

* ok k k ok k k k O—5—FrERHT % * % % % % % %
935>0 BiEdFERD) = 196. 000000000000mm
B2 7 — LBEEZ R2) = 380. 000000000000mm
BE#h~ o 5 > B EEEE (L1)= 600. 000000000000mm
SYVERT = 320. 000000000000mm
EX bUSEiEERE TOES (A1)=  4.000000000000/
O—4&—&EFER3) = 644. 000000000000mm
O—4 —f#rEE (L2) = 256. 000000000000mm
fRHTIRER
WRIREITIE D —4 —85E (RX)=  30.621228925632". f
WRIREITIE O —4 —BITE (F18)=  24.290520948249". f
ERITRO—4 —8HAE@&X)= 3.173937220044+. f
EfEfTRRD—42 —BfE (£9) 1.167569713283". f
O—4 —#EEDEEH &X) 30. 621228925632". f O—4—#EE
O—42 —BREOEEH (FH) 25. 458090661532". f
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BX BT A&

x BF LT DS oo RAFEDIE *x BYBMESP VIEQHE *  x Y MS RSO *
A ] — A — S ) S B — e
RS ~ILY = 1235. 180523265948t f-m )OS —HEIRERSAAE = 323.110542475000tf & FLEEYNELEAEL) = AEEE%L - 1050rpm
A—4— kLY (&K) = 62.854494632701tf-m D) —HERERAFME = 18.234135767731tf 9529 Evhze
TEFRH = 19.651427164977 TEFRH = 17. 720090855460 BS54 e—7)LthZ AR A S v T MBS () e
HH+HHHHHHD 5289 S e T B S | O S — Ay R O—4—rh% B = 68447 (®220- D 270—24mm)
RS LILD = 161.634942027195tf-m A~y FRERE (L TEESL) = 1832. 490994838927t mAarAay FHEE = 82997kef ERBITE = 7800. Okgf
2529 kLY = 4. 408500000000t f -m Ay FRXHFEE L IELSL) = 67.477505351562tF RISV FE = 81701kef B E = 10900. Okgf
T2FZH = 36.664385171191 TR = 27.157064940257 mAA—4—#HE = 30621kgf HAL v T FERE = 0. Okgf
S P e HAHHH A B R R e G = 1050rpm HAS D FEE = 240. Okgf
RS ~ILY = 120. 576000000000t f-m EX FOBRSNMAIREBRFAE = 916. 088417786784t C/P 3 & (45 1 EX1=Y) = 93679.7
HAX7 LY = 8. 817000000000t f -m EX FURNMIBERARE = 12.334253906250tf T U Oy RRIRER T & o HHH El$54% % (1000000/ (1050:60) ) = 15.9
REFRY = 13.675399795849 REFRY = 74.271895547941 HWEmHE = 249. 31F Acm (D 21. 4%11. 65cm) ERFHm BEHETEHE = 1489507. 2R% 8]
I9S20XF7 LY = 4. 408500000000t -m EX FOBRAAIRERBFRFAE = 234.111484545511tf P = 32.62MPa(82997x0. 098/249. 31) S T REISR (2 2 58) e
TEEH = 27.350799591698 EX FORRAIRERARE = 6. 619382929687t f '} = 11. 76m/s (0. 214* 7t ¥1050/60) EEMZ = hA%4 (P 520- D 570-24mm)
HHH S T b ZLFRM = 35.367569308543 PViE = 383. 61(32. 62+11. 76) (BEE - B5d - 5 E)
EX BhE = 572 (P 190) : AE (P 95) EX FCRBIAETESRAE = 61.072561185786tf ) S0 AL T W S a EREGE = 34600. Okgf
BENLY = 141. 409957572006t -m EX FCREBIAETRARE = 1.480110468750tf FTEMEHE = 121. 98 Aom (P 21. 4%5. Tem) ERBAE = 48400. Okgf
HAash kLo = 17.634000000000tF -m TEEHK = 41.262164193301 P = 32.82MPa(81701x0. 098/2/121. 98) HA vy 7 FBIHE = 0. Okgf
REREY = 8.019165111263 A O — 2 — e Y = 11.76m/s (0. 214* r ¥1050/60) HA vy 7 L EE = 1230. Okgf
dE2 EhE = 512 (D 220) : RTE (D 40) O—42—Jy o HBEBREAE = 399.795939503183tf PViE = 385. 96 (32. 82*11. 76) C/PD 3 & (S 1EZ=Y) = 60928.5
[R5 kJLY = 283.026082161904tf-m A—4—Jy a8ExAAE = 15.310500000000tf S T 0 Ty S e El 5% % (1000000/ (1050%60) ) = 15.9
HA%h kLo = 35.268000000000t - m REBRH = 26.112533196380 FIEMEE = 117. 60 Hom (P 21. 0x5. 6¢cm) EEEFa FEETHRE) = 968763. 15FF4
REFEH = 8.025010835939 O — A — B D P = 34.04MPa (81701%0. 098/2/117. 6) A A S o T R ERH
E4 EhE = 512 (P 290) : AE (P 110) A—42—EVEBRHE = 1200. 056977744765t f vV = 11.54m/s (0. 21 7 *1050/60) EEHZ = 6932 (P 160-P 220-28mm)
[BR LY = 573.968977810855tF-m ENREAREE = 113. 361000000000t f PViE = 392. 82(34. 04*11. 54) ERBFE = 8850. Okgf
HAs kLo =  70.536000000000t - m TEEH = 10.586153771974 HH O — 2 — 0y &0 1 H EIRFRFTE = 9800. Okgf
REFRE = 8. 137248749729 = AE SR E{ERIE = 82.928000000000tf 28.071917336987m/s NIVIR T o BT = 1000. Okgf
¥ 6 BE = 52 (9 330) : NEE (P 120) REFRY = 14.471071022390 FIEEE = 252. 48F Acem (P 52. 0%4. 8cm) NIVITR T DT BERRRK = 2000. Okgf
[BR kJLY = 857.242460394230tf-m HHHHHHHHHH T O A Y R P = 5.94MPa(30621x0. 098/2/252. 48) hiLi v T FERE = 500. Okgf
H A% Lo = 105. 804000000000t -m oAy FRAHRE = 711.970000000000tf vV = 9.86m/s (28. 07%260/740) hiLi v T FEERE = 1000. Okgf
REFRE = 8. 102174401669 ENRRARE = 113. 361000000000t f PViE = 58.57(5.94+9. 86) C/PO> 3 % (#hs% 1 EZf=Y) = 44361.9
=8  mE = 4412 (9 370) : AE (P 160) REFEY = 6.809837598469 O — 2 — Ty & 0 2 HHrbeeeeeee EEGR$(1000000/ (525%60)) = 31.7
[BR LY = 1132.021861840461tF-m = AEEREFFEI{ERIE = 82.928000000000tf FTEmME = 306. 805 Acm (P 52. 0x5. 9cm) ERF0m EFETHE = 1406272. 2858
B8 ~Ly = 141.072000000000tf -m ZLFRH = 9. 308918579973 P = 4. 89MPa(30621x0. 098/2/306. 80) e
R = 8.024426263472 HAHA D 538 3 0 D b '} = 0.86m/s (28. 07x260,/740)
E10 EHE = 5 (®410) : BEE (P 200) 95200 %7 FBREE = 3291. 886446137529t f PViE = 48.22 (4. 89+9. 86)
[BR LY = 1443. 746392892909t -m EEESEAHE = 113. 361000000000t f A
HA% kLo = 176. 340000000000t -m REFRY = 29.038967953154
ZERH = 8. 187288152960 = AE SR E{ERIE = 82.928000000000tf
E12 EHE = 5 (®410) - BEZE (P 120) REBRH = 39.695717322708
BBAR ML = 1732.270262198595t-m e
HA% kLo = 211.608000000000t - m
RE2FRH = 8.186222932019
14 #HEE = 5% (©450) : A (P 190)
[BR FILY = 2058. 371506632032t F-m
HA%h FJLo = 246. 876000000000t -m
RE2FRH = 8.337673595781
16 = 5% (©490) : A (P 260)
[BR FILY = 2323.502291640926tF-m
HA%h Lo = 282. 144000000000t -m
RE2FRH = 8. 235164638060
18 HEE = 5% (©490) . AE (9 210)
[BR FILY = 2640.037386444183tF-m
HA%h kLo = 317.412000000000t -m
RE2FRH = 8. 317383673094
E20 ®=E = 5z (D 490) : REE (D 150)
[BR FILY = 2930.980282093133tf-m
HA% kLo = 352.680000000000t - m
RE2FRH = 8. 310593972137
E22 H&#E = 4% (©490) : AE (©0)
[BR RILY = 3234.045798394124tF-m
HAsh Lo = 387.948000000000t -m
REFRH = 8. 336286817806

e



